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(L= 12) (L= 13) (v=14) (L=LB) e
T @ ] @ R oM P W=
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B £ T =T =® 1
ERiE T8 m3 120
s T8 m3 120
BEYHEET
B = LY
B Yy & L T = 1
agy—+k
7)) a—L#EE UZIW800+H750 m 145 t=5918kg (40. 9kg/m)
t=724g (5kg/m) /0. 35m3/t
B/ N THE ¢ 150, HEHE m 145 /2. 06m3
avyy—+k
BIEL - Eij0y EHEEY m3 14
BEEED m3 2
W g K B T
TV IFLy &
& & U =F & W800+H800 = 1
LIRS S
& ®B U =F & W800+H800 m 145
o ck=18N/mm2
EYao1)—Fk [t=10cm m3 9
[l _E F HEHEK & m?2 26
BE/NA T HHE, ¢150 m 145
R H B AE #4 T, t=1cm m?2 68
WK — b m?2 197
BAERE RC-40 m3 86




oK B 2 B OB B 2
( I]/:A/g) ( I;EJ\/;%/IJB) ( I%HJ\/I;JLL) ( %/\/;%5) W fir = i
B oKk B I
B & & I
Y £ T W800%H800 3 1 N=6E5 7
Aoy FL oy E
A B U F & W800+H300 m 3
avyly—+ o ck=18N/mm2 m3 0.8
B METEEY m?2 3
2 5 K R T = 1 |N=6FF
KRR 229 —k 0 ck=24N/mm2 m3 1
B % - MHBEY | m2 4
HBER R B950 t=10(27) m 6
B #h#t BEEMEE t=100m | m2 4
7.1 SD345 D13 t 0.1
2tE VY- o ck=18N/mm2 m3 1
B METEIEY m?2 8
7.1 SD345 D13 t 0.008 #=#
Lo dyint i} whY)-tEA A m 6
& B T
T / L — 1 500kg A m 166
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K A m3 116.6 116.6




mYUELI &H5XR

K )fv il BERRVEE L

Ao B o =X {2 RV At T 25 RAR T & F o
(W800+H800) | (W800+H800)
)= T
U a— AR URIW00+H750 m 144.7 144.7 |t=5918kg (40. 9kg/m)
t=724g (5kg/m) /0. 35m3
RS A TR /t
¢ 150, A ILE m 144.7 144.7 (2. 06m3
av ) — | EEEEY m3 13.0 0.9 13.9
BugE L
SRS m3 1.6 1.6
av ) — | EEEEY m3 13.0 0.9 13.9
FALGy

SRS m3 1.6 1.6




f IR ARIUFE

(W800%H800) NO. 2-7 NO. 2-9 20. 69 SL=22. 83
NO. 2-9 NO. 2-10 7.93 SL=8. 48

NO. 2-11 NO. 2-14 22.79 SL=24. 07

NO. 2-14 NO. 2-15 6.91 SL=7.25

NO. 2-15 NO. 2-19 33.28 SL=36. 82

NO. 2-19 NO. 2-20 16.8 SL=20. 10

NO. 2-20 NO. 2-21 8.89 SL=10. 89

NO. 2-21 NO. 2-22 12.3 SL=14.22

a8 & 129.59 SL=144. 66
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(W800%H800) NO. 2-11
NO. 2-14
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NO. 2-19
NO. 2-20
NO. 2-21
& F &1z
S4 T
2ERIET NO. 2-8 2-1E RER
54 7B
NO. 2-9 2-22 IR
54 7B
NO. 2-12 2-32 AR
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NO. 2-13 2-4S IR
54 7B
NO. 2-16 2-52 RER
54 7B
NO. 2-18 2-62 KRER
& F &1z
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8
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BHE
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) 5 g% | ¥4 uE
#FELT  |KE 1w m3 0.9
AN =T 2—-LHE UZIWB00+HTS0 | m 1.0
HENRET |BEAIT HABO150 | n 1.0
avH Y= rREL - BB | 85 AN n3 0.1




R TF Lo sEEIUFE WB00+H800)
L=10.000/10. 0%144.66  «-ee- SIEEEE R = 144.7 m

‘Y aH1)— b (ock=18N/mm2, t=100mm)

A=7.000/10. 0%129. 59 = 90.7 m2

V=90. 7%0. 1 = 9.1 m3
& £ B4 (it R 7K %)

A=2.000/10. 0%129. 59 = 25.9 m2

REE/NA T (HHE, ¢150)
L=10.000/10. 0%144.66  eee SIPEHEE 8 - 144.7 m

0% 1 B Lk 44 (R #8i#h, t=1om)

A=4.712/10.0%144.66 seees FIEBEEE = 68.2 m2
WK — k
A=13.590/10. 0x144.66 ~  «.--- FIERERE = 196.6 m2

B4R (RC-40)
V=6. 60/10. 0%129. 59 = 85.5 m3
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EXTT
RYE (L)

V=0. 9%129. 59
BEYIRET
aNGT—= T a—LEE URNB00+HT50)

L=1.0«144.66 e FIEEEE R
R/ TRE (FHE 0150

L=1.0«144.66 e FIEEEE R
avy ) — bEURL - RO (B, AN)

V=0. 1%129. 59

116.6 m3

144.7 m

144.7 m

13.0 m3




R TF Lo EARIUEE (WB00+H800)
L=10. 0%}t e &l PR e

‘Y aH1)— b (ock=18N/mm2, t=100mm)
A=0. 350%2%10. 00

] £ 24 (Rt HEK %)
A=0. 100%2%10. 00

BE/NA T (HAE, ¢150)
L=10.0%f4t e FEEBEE

W tH A AR #4 (R #gA, t=Tcm)
A=0. 150%3. 142x10. 00* Lk,
SN2 MIEREE &
=4.712x (144.66/129. 59)

K — b
A= (1. 118%0. 250*2+0. 800) *10. 00} Lt
=13.590«f4k e FHIEBEE R
=13. 59* (144. 66/129. 59)

BARHA (RC-40)
V=0. 660%10. 00

7.000 m2

2.000 m2

5.26 m2

15.17 m2

6.60 m3
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00 800 100 EENE
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o ck=18N/mm2 };3_ ’;% —‘
VEEIXRN " VEELXH
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avy— bR //
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e
BRI TH150 -
#AE (BEEET)

‘YavoyY—+
o ck=18N/mm2

BiskinE A

R TF Lo RHARUFE WB00+H800)
L=0. 500

a>49)— bk (ock=18N/mm2)
V=(1. 000*0. 900-0. 800x0. 800) *0. 500

BR (B5 - EEHEEY)

A=(1. 000%0. 900-0. 800x0. 800) *2

ary— hEIEL - 05 GRER, AN)
V=(1. 000%0. 900-0. 800x0. 750) *0. 500

= 0.500 m

= 0.130 m3

= 0.520 m2

= 0.150 m3




R TF Lo RARUFE WB00+H800)
L=0. 500%6. 0

a2y 1)— bk (ock=18N/mm2)
V=0. 130%6. 0

Bt (85 - MEEEY)
A=0. 520%6. 0

a4y )—rEURL - A0S (B8R, AND)
V=0. 150%6. 0

3.0m

0.78 m3

3.12 m2

0.9 m3
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FRERT
a2y 1)— bk (ock=24N/mm2)
V=LxWx0. 150 m3

Bt (8 - MEEEY)
A= (L+W) 0. 150%2 m?2

1R B (UK BBHE800:B950, t=10(27) , sKE&H=E500:B690, t=13)
L=w m

Bt GERMHEE t=10mm)
A=0. 3002 m2

£ 7% (SD345 D13)

W= KEIESRKSE kg

W

Z+E
a4y )— bk (ock=18N/mm2)
V=(1/2% (H1+H3) +1/2% (H2+H4) ) *W=0. 300 m3

R (B - REEEY)
A= (1/2% (H1+H3) +1/2% (H2+H4) ) W2+ (H1+H2+H3+H4) *0. 300 m2

£ 7% (SD345 D13)
W=0. 200%3x2*0. 995 = 1 kg

ERERSLEMR (2> ) — FEIAR)
L= LEEHFDH (FRhNo. 2-1~2-4) m




RARTiER

~ti& (mm)
g | BRI i BRAR T 2118
L W H1 H2 H3 H4
WBERT (517N 2-18 2-8 800 1400 1300 300 300 100 100
2-2% 2-9 800 1400 1000 300 300 100 100
2-3& 2-12 800 1400 1000 350 350 100 100
BRI (21 78) | 2-45 2-13 800 1400 1000 350 350 100 100
2-5% 2-16 800 1400 1000 400 400 100 100
2-6= 2-18 800 1400 1000 600 600 100 100
HE-BX
R T # = ZITEHE )
PR iR Bl = = z — — R LR (m)
2% No. No. IKERTE [ 3v9)-bm3) | B m2) [BEREEMm| B#sM #%8 (kg) | 3v9Y-pm3) | EEm2) | £ ke)
24N/mm2 | 85 - manHE pd Easmgn =1om| SD345 D13 | 18N/mm2 | /NEU4EEY | SD345 D13 |avvu—rai
WBHERT (517N 2-18 2-8 800 0.273 0.810 1.300 0.780 20 0. 156 1. 280 1 [2.200(LFi4)
2-2% 2-9 800 0.210 0.720 1.000 0. 600 17 0.120 1.040 1 |1 100 CFipIDH)
2-3& 2-12 800 0.210 0.720 1.000 0. 600 17 0.135 1.170 1 |1 100 CFipIDH)
BRI (21 78) | 2-45 2-13 800 0.210 0.720 1.000 0. 600 17 0.135 1.170 1 1. 100 (i)
2-5% 2-16 800 0.210 0.720 1.000 0. 600 17 0. 150 1.300 1 [~
2-6= 2-18 800 0.210 0.720 1.000 0. 600 17 0.210 1.820 1 [~
=) 1.323 4.410 6. 300 3.780 105 0. 906 1.780 6.0 5.500

MIEER R

JKEgHE 800 : B950 t=10(27)

A&tL=6. 300m




BRER PRhR AR IR L

R ER A BEAETE (m) MEABSZE (m) 1%")- PR (m3)
No. No. BE b L b2 t H1 H2 H3 H4 W 73]
2-1%5 2-8 1.40 0. 31 0.78 0. 31 0.12 0.40 0.40 0.20 0.20 0.90 0.252
2-2% 2-9 1.55 0.30 0.95 0.30 0.10 0.40 0.40 0.20 0.20 0.90 0.248
2-35 2-12 1.42 0.30 0. 82 0.30 0.12 0.50 0.50 0.25 0.25 0.90 0. 291
2-45 2-13 1.4 0.30 0. 81 0.30 0.12 0.51 0. 51 0.25 0.25 0.90 0.293
2-5% 2-16 1.40 0.30 0.80 0.30 0.10 0.44 0.44 0.15 0.15 0.90 0.231
2-65 2-18 1.40 0.30 0. 80 0.30 0.11 0.63 0. 63 0.11 0.11 0.90 0.279
&t 1.594 m3
AV9Y-PEREE L V= (LktW) +1/2% (H1+H3) #Wxb 1+1/2% (H2+H4) #Wxb2
b L b2 W
T R EESESELELECEC ! e — !
Hl / H3 H2 / H4 H1 / H2 H3 / H4
TR/ ER TR/ LR 5/ k 8/ k&
_ i i I I R
d d
A .~ J y
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=
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£/ L—JL(500kgH)

13=166.0 e EEHL— O 166.0

lig

&t 166.0 m




